Quiz 1

Name:

Total = 10 marks

1. (2 marks) Estimate the number of photons per second in a 10 Watt blue argon ion laser

beam? F
Modoro faecz _L
# o
| . oWl _— 4
[e3vie s v BHC :“/5

= x]alﬁ F’rw'Hs

2. (3 marks) Derive the law of reflection using Fermat’s Principle.
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3. Refraction

a) (3 marks) A light beam travelling in water strikes a 1 meter thick glass plate at an
angle of incidence of 70° as shown below. Find the position x where the light ray
enters the air on the other side of the glass surface.
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b) (2 marks) How does the answer change if the light ray is initially in glass and then
hits a 1 meter thick water layer?



